	Answer: 22

Next question:

If n = 20
then n + 5 is ____?


	Answer: 11

Next question:

If n = 9
then 10 + n is ____?



	Answer: 17

Next question:

If n = 32
then n + 19 is ____?


	Answer: 6

Next question:

If n = 13
then 28 − n is ____?



	Answer: 1

Next question:

If n = 4
then n + 7 is ____?


	Answer: 2

Next question:

If n = 9
then n − 1 is ____?



	Answer: 3

Next question:

If n = 11
then 6n is ____?


	Answer: 4

Next question:

If n = 3
then 13n is ____?



	Answer: 5

Next question:

If n = 11
then 2n is ____?


	Answer: 7

Next question:

If n = 12
then n4 is ____?



	Answer: 8

Next question:

If n = 8
then n + 9 is ____?


	Answer: 9

Next question:

If n = 21
then 27 − n is ____?



	Answer: 10

Next question:

If n = 13
then n + 23 is ____?


	Answer: 18

Next question:

If n = 16
then n + 12 is ____?



	Answer: 19

Next question:

If n = 10
then 30 + n is ____?


	Answer: 40

Next question:

If n = 15
then 22 – n is ____?



	Answer: 25

Next question:

If n = 7.5
then n + 2.5 is ____?


	Answer: 28

Next question:

If n = 14
then 16n is ____?



	Answer: 39

Next question:

If n = 12 
then 4n is ____?
	Answer: 51

Next question:

If n = 16 
then n − 7 is ____?

	Answer: 66

Next question:

If n = 5 
then n + 13 is ____?
	

	
	


